35_15 3+3_12 15 27 4 6 45 4 2
4 o 5 4 20 20 20 5's 56 6 3
5 1 5 2 3 10 10 1 10 5 5 2 15 4 19
—_———_ e —_—_= - — = === -4 -—=—4+-=—
4 2 4 4 4 11 11 4 44 22 2 3 6 6 6
100.000 5 2 17 34 6 5 1
= - 3—-2:—2:— 3——:———:—
40.000 2 2 2 2 2
3 6 18 9 7_14_ 7 5 3 _10 3 7
4 11 44 22 8" T 814 16 2 4 4 4 4
3 30 15 2 27
- 10 ==—=—= 5=.5==.5=27 -5 =—
4 4 2 5 5 15
9 18 _ 97 _ 50.000_20 5 10 _ 55 _ 25
5°7 518 10 2500 2 - -
7 1 6 7 27 14 19 19+65 84
14 =—== —_—,—, e —_— = — —+5= = —
214 4 5 3 5 5 13 13 13
5 7 20 21 41 3 5 311 33 3 15 20 35
-4 -=— i p— —_,— —_— = — 3—+5=— —_ = —
3 4 12 12 12 411 45 20 4 4 4
4 15 3 4 15 416 _ 64 5_7_5
5 16 4 5'16 515 75 Ty
2 1 60 19 79 3 7 3 14 3 17
6-4+2-=—+—=— --8=6 —+-=—4+-=—
3 9 9 9 9 4 2 4 4 4 4
www.Mathe-in-Smarties.de Seite 1



